S AZ3045) i = X 15
i KET A4 - R B E
R I B B B S B =y i TSt v
% e = * ® = # ®
W FiA HESIR 30 | L1 6 3l 7.7 2.7 2.7 —|  —
ERLEASR D Hitl 30 | 1.1[# 6. BE TTRE L2 1.2 — —
REEF [SERAIR 30 | 11 6. THE 7.9 2.4 2.4 — —
LIS o i 30 | 1.1J# 6. 7E oM OLLORE 10—  —
=M E R 30 | L1pde TRl T 2.0 2] | —
EELIA 0 i 30 | LL[FE 6. 70 T.OME L UeE 1.1 | —
Z| L Ees — | B J?thZEEtI:ZJ = s e
L| HENT B & DSERS D) %5 —IFl 6. TR T.OMN LOWE 1.of  —| —
ESPERA 40 | L2#l 6.7 7.9% 2.6 2.6 —| —
EFLLISN O HilE
1 BBV 30 | L2 6 Tl 7.9 2.2 2.2~ —
2 _EFLSh oM 30 | L2F 6. 70 TOML OLUME 11— —
5 A &) DS ERS D) 1% — | BERR M o6 3 T.TE LW 12— —
ERELAS 0 MR — | BEHR EeWEERYE - - - -
A A B DR D) B — | BGHR (N0 o6 3h T.TIE LoWE 12— —
ERELASR D iR — | BEMR R LR e - - - -
73| 4 BET ELRER 40 | L1fW 6. TE 7.9 2.5 25—  —
LFEELS 0 Hirtsk
1 HEERW 30 | L1fe TRl 7.9 2.0 2. - —
2 LRELSA DR 30 | Ll o6 7l ToOME Lo 1Yy —| —
gy H &)l DS RRS D) 15 —FE 6.3 7.THE Lol 1.2 —| —
RLLAS D i — | B A s — — — —
4RIT1~3TH H & DS RRS DR 15 —Fl 6.3 7. T Lol 12— —
LELEASR > iR — | BRAR [ELMEELLYE — — —
| B EEE R 30 | L1 M 5.8 7O 2.0 200 | —
RELLASN D i 30 | LL|#0 5.8 7.9%0 LogkE L 0 — -
5 T HET Fr P 0 —pt 7ol 7.8 | | | —
T RHE A R i ik — | SRR ELLIEE b el el | -




S AZ3045) s ® K °H
i KET A4 - R B E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
5o FEET FCRAS o Hir e
1 BTG — | AR B EE R huE ke — —
2 RaEinwy 40 | 1. 1[§h 5.9t 7.7 3.5 3.5 | —
3 LERLIS o
(1) EEEH 30 | LOME 5.9 7R 2.7 2 | —
(2) kst o Hhg 30 | 1.OW 5.ofl 7.7 1o 1.2 — —
A B ENHEATN 30 | L3Rl 2.8 4 1 2.5 2.5 | —
_ERCEASN 0> itk 30 | L2WEo2.omh o4 @i 1ol 1y~ —
W FIIET i A KR el 7.5 7.8 | | | —
ERTTRHETE o ik Hhisk — | BRAR [ELLMEE L e beWE | -
RERLAA 0D Hitg
1 BEAR A hR — | BRR EPLYEE LS e beWH | —
2 REHRW 40 | 1.1 |4l 6.3%0 7.7 3.8 3.5 - —
3 RIS MR
(1) EEHEV 30 | L1fle.3pno.o 2.7 27— —
(2)  ERESASSDHIEL 30 Ll%GJETﬁ%lQ%IJ - -




